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QUESTION 1

A Web Authentication layer in the VPM can be best implemented in which type of policy layer in CPL? 

A.  

B.  

C.  

Correct Answer: C 

 

QUESTION 2

When one ProxySG forwards HTTP requests to another ProxySG, does the originating ProxySG send a server-style
GET request or a proxy-style GET request? 

A. Server-style 

B. Proxy-style 

Correct Answer: A 

 

QUESTION 3

Which of the following are true when enabling the early intercept attribute for a proxy service? (Choose all that apply) 

(a)

 It is automatically enabled when the detect protocol attribute is enabled. 

(b)

 The ProxySG completes the three-way TCP handshake with the client before establishing a connection to the upstream
server. 

(c)

 It can be used with any protocol. 

A. 

a and c only 

B. 

a and b only 

C. 

c only 
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D. 

All of the above 

Correct Answer: A 

 

 

QUESTION 4

NTLM credentials or Kerberos credentials: Which credentials typically require more trips between the ProxySG and the
domain controller? 

A. NTLM credentials 

B. Kerberos credentials 

Correct Answer: A 

 

QUESTION 5

When SGOS processes a client HTTP request, how is a client worker started? 

A. By the SGOS cache administrator process. 

B. By a retrieval worker. 

C. By a server worker. 

Correct Answer: B 

 

QUESTION 6

What does this CPL layer do? 

A. Sets the transaction status to Allow for all users who have the group attribute of Administrators. 

B. This policy contains a syntax error and cannot be installed. 

C. Nothing. 

D. Sets the group attribute of Administrators for all users whose transactions are allowed. 

Correct Answer: A 

 

QUESTION 7

Which of these possible problems does a nearly-full ProxySG disk indicate? (Select all that apply) 
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A. This ProxySG should be upgraded to a more powerful model. 

B. One or more additional ProxySG appliances should be deployed in this network. 

C. Caching parameters are improperly set in the Management Console. 

D. None; this is a normal condition. 

Correct Answer: BC 

 

QUESTION 8

SGOS is based on which other operating system? 

A. VxWorks 

B. pSOS 

C. Unix 

D. Windows 

E. None of the above 

Correct Answer: D 

 

QUESTION 9

ICAP responses may be cached on a ProxySG, i.e, for some Web requests ICAP processing may be completed without
involving ProxyAV 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 10

Which one of these statements best describes how policy checkpoints evaluate the installed policy on a ProxySG? 

A. The Client In checkpoint decides which rules will be evaluated by the other checkpoints. 

B. At each checkpoint, a decision is made whether to allow or deny the transaction. 

C. The Server In checkpoint decides which rules will be evaluated by the other checkpoints. 

D. Relevant rules are evaluated at each checkpoint based on the information about the transaction that is available at
that point. 

Correct Answer: B 
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QUESTION 11

When authenticating a guest user in an LDAP realm, which of these CPL properties would best be used to specify that
the guest user should be part of the pre-defined LDAP group MobileUsers? 

A. authorize.guest(group=MobileUsers) 

B. authorize.add_group(MobileUsers) 

C. authorize.guest(MobileUsers) 

D. authorize.add_group(guest:MobileUsers) 

Correct Answer: C 

 

QUESTION 12

When a client receives an HTTP 302 response from a server, the client will form a new request based on the header. 

A. Forward 

B. Cookie 

C. Location 

D. Redirect 

Correct Answer: C 

 

QUESTION 13

When Blue Coat Director is used to manage a ProxySG, which one of these methods can Director use to prevent
unexpected changes from being made directly on the ProxySG? 

A. Director changes the administrative passwords on the ProxySG to secret, random values. 

B. Director disables the serial port interface to the ProxySG. 

C. Director disables the Management Console on the ProxySG. 

Correct Answer: B 

 

QUESTION 14

Which of the following is NOT true about global and per-rule policy tracing? 

A. Each object processed by the ProxySG generates an entry in the global policy trace and appears in a rule-based
trace if the object triggers a rule. 
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B. Global policy tracing may severely affect the performance of a production ProxySG. 

C. You can enable global tracing through the Management Console or CLI. 

D. You can enable per-rule tracing through the Management Console. 

Correct Answer: D 

 

QUESTION 15

The bcreportermain_v1 access log format has a configurable ordering of fields, and this custom order is reflected in a
log file header. 

A. True 

B. False 

Correct Answer: A 

Latest BCCPP Dumps BCCPP VCE Dumps BCCPP Practice Test

Powered by TCPDF (www.tcpdf.org)

Latest BCCPP Dumps | BCCPP VCE Dumps | BCCPP Practice Test                                6 / 6

https://www.pass4itsure.com/bccpp.html
https://www.pass4itsure.com/bccpp.html
https://www.pass4itsure.com/bccpp.html
http://www.tcpdf.org
https://www.pass4itsure.com/bccpp.html
https://www.pass4itsure.com/bccpp.html
https://www.pass4itsure.com/bccpp.html

